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PART -1/ %017
CHILD DEVELOPMENT AND PEDAGOGY / et farara = forem swest

Directions : Answer the following questions
(Q. Nos. 1 to 30) by selecting the correct/most
appropriate options.

To understand individual differences

in development it is important

(1) to look at the environmental
factors that affect individuals.

(2) to consider maturation of the body

. and the brain, _
(3) to consider both inherited
characteristics as well as

environmental factors and thelr

interplay.
(4) to ook at the inherited
characteristics that give each

person a special start in life,

Which of the following is not a

principle of development ?

(1)  Development is relatively orderly.

(2) Development takes place
gradually over a period of time.

(3) Exact course and fnature of
development is determined at the
time of birth itself,

(4) Individuals develop at different
rates,

Several research studies show that
teachers have more overall interaction
with boys than girls. What is the
correct explanation for this ?

(1) Boys need more attention than
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7.

What instructional adaptations should a
teacher make while working with

students who are ‘Visually Challenged’ ?
(1) Use a variety of visual
presentations,

(2) Orient herself so that the students
can watch her closely.

(3) Focus on a variety of written tasks
especially worksheets.

(4) Speak clearly and use a lot of
touch and feel materials.

Co-operative learning and peer-
tutoring in an inclusive
classroom.

(1) should be actively discouraged
(2) should be occasionally used
(3) should not be used

(4) should be actively promoted

Which of the following is most
important in an inclusive classroom ?
(1) Standardized testing

(2) Promoting competitive learning
(3) Individualized education plan

(4) Uniform instruction

Which of the following is a correctly
matched pair of learners and their
primary characteristics ?

(1) ‘Dyslexic’ learners — Lack reading .

and writing fluency

(2) Creative learners — Hyperactive;

slow in completlng work

3)
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10.

11.

Which of the following would not be
consistent  with a constructivist
environment ?

(1)  Students work collaboratively and
are given support to engage in
task-oriented dialogue with each
other.

(2) Teachers elicit students’ ideas and
experiences in relationship to key
topics and plant teaching-learning
to elaborate or restructure their
current knowledge.

(3) Teachers employ specific end of
the term assessment strategies and
give feedback on products rather
than processes.

(4) Students are given frequent
opportunities to engage in
complex, meaningful, problem-
based activities.

A teacher should encourage students
to set rather than

(1) performance goals; learning goals
(2) failure avoiding goals; marks
seeking goals ‘ :

(3) marks seeking goals; failure
avoiding goals
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13.

14,

15.

Which of these is an example of
extrinsic motivation ?

(1) *“I learn so much when I do my
homework.”

(2) *“Doing homework makes me
understand my concepts better.”

(3) “I complete my homework
because the teacher gives us marks
for each assignment.”

4) “I enjoy doing my homework
because it is so much fun.”

In a primary classroom a teacher
should

(1) give only non-examples

(2) give both examples and non-
examples

(3) not give any examples and non-
examples

(4) give only examples

Which of the following strategies
would promote meaning-making in
children ? -

(1) Transmission of information

(2) Using punitive measures

(3) Uniform and standardized testing
(4)  Exploration and discussion
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18.

mthe-mmeﬁvmmm“h““k

evend an

| (l) ‘tabula rasa’ oOrf 'blﬂ-ﬂk _s_l&te’

whose life is shaped entirely BY
‘experience.

(2) a ‘passive being’ who can be
shaped and molded into any form
through conditioning.

(3) a ‘problem solver’ and 2
‘scientific investigator’.

(4) ‘miniature adult’ who is less than
adult in all aspects such as size,
cognition, emotions.

A teacher’s role while using co-

operative learning in her class -

(1) is to leave the class and let
children work on their own.

(2) is to be supportive and monitor
each group.

(3) is to support the group which has

the ‘bright’ and ‘talented’
(4) s to be a silent spectator and let
children do what they want.

(6)
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21.

According to  Piaget, specific
psychological structures (organized
ways of making sense of experience)
are called

(1) schemes

(2) images

(3) mental maps
(4) mental tools

“With an appropriate question /
suggestion, the child’s understanding
can be extended far beyond the point
which she could have reached alone.”
Which construct does the above
statement highlight ?

(1)
@
3
@

Equilibration
Conservation
Intelligence

Zone of proximal development

According to Lev Vygolsky, basic mental
capacities are transformed into higher
cognitive processes primarily through

social interaction

(1)
@

stimulus-response association

()
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One of the major accomplishments of
concrete operational stage is

(1) Ability to conserve

(2) Hypothetic - deductive reasoning
(3) Secondary circular reactions

(4)  Animistic thinking

Constructivists such as Jean Piaget
and Lev Vygotsky view learning as

(1) conditioning of responses

(2) passive repetitive process

(3) process of meaning-making by
active engagement

. (4) acquisition of skills

Selecting and presenting stories and
clippings from newspaper that portray
both men and women in non-
traditional roles is
strategy to

(1) promote gender constancy

(2) encourage stereotypical gender

roles
(3) counter gender stereotypes

(4) promote gender bias

Read the following description and
identify the stage of moral reasoning

il

an’ effective
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28.

(M

29,

As per Howard Gardner’s theory of
multiple intelligence, how would ¢he
intelligence of a person with the
following characteristics be
categorized ?

Characteristics :

“Ability to detect and respond
appropriately  to  the  moods,
temperaments, motivations and,
intentions of others,”

Intrapersonal
Interpersonal
Therapeutic
Naturalistic

@)
3)
)

Which of the following should be the
reasons for assessment of children ?

(i) To separate and label children
into  ‘non-achievers’, ‘low-
achievers’, ‘average’ and ‘high-
achievers’.

To improve teaching-learning
processes in the classroom.

To find out what changes and

(i)
(iif)

progress in learning that takes

place in the child over a period
of time.

To discuss the -capabilities,
potential, strengths = and
challenging areas of the child
with the parents.

(1), (i), (1ii)
(ii), (iii), (iv)

iv)

(iv)
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PART - I/ HITT - 11
MATHEMATICS AND SCIENCE JRIGRCRCE LR

Directions : Answer the following questions by

Ady : Fefafee T & 30 &1 & forg

selecting the correct/most appropriate options. i i??éaqgﬁ? faweq gf-‘??:

31. The total surface area of a cuboid is 31, et s &1 oo qEE ga%d 194 m?
194 m’. If its length is 8 m and 2 | ot zah worE 8 m AT NFE 6 m R,
h.reatlth is 6 m, then what is its volume A 5ET I (m’ﬁ)t
(in m“) ?

(1) 126 (1) 126
(2) 168 (2 168
(3) 224 (3) 224
4 112 4) 112
32. The area of a trapezium is 105 cm® 3. Tt wem ® fA%a 105 cm? § Ik

and its height is 7 cm. If one of the
parallel sides is longer than the other

T Yo 7 om ¥ | AR Wi A

FA T Y @l & 6 cm siftrss et §,
by 6 cm, then the length of the longer : ;
S i A< B e, em
() 16 (1) 16
(), 15 @) 15
By, 12 ' By, 12
4) 18 4 18
33. The curved surface area of a right 33, IR H 3 cm B TR T w@ FHA

-cular cylinder of base radius 3 cm
2 cm?, The volume (in cm®) of the
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34.

35.

If x is added to each of 14, 12, 34 and
30, the numbers so obtained, in this
order, are in proportion. What is the

value of\!lzx +9?
n 9

2y 11

3 13

4 8

Which one of the following statements
is true ?

(1) A regular polygon of 10 sides has
10 lines of symmetry.

A circle has no line of symmetry.
An angle has two lines of
symmetry.

A regular hexagon has only 4
lines of symmetry.

(2
3)

4)

The value of x which satisfies the
equation

10(x +6) + 8(x ~3) =5(5x - 4)

also satisfies the equation
33x-5)=2x+1
20x+3)=5(x-5)+4
5(xx-5)=2(x-3)+5
5(x=3)=x+9

(1)
®
3
@

btracted ﬁ'onl
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@) 2x+3)=5x-5)+4

(3) 5kx-5=2(6-3)+5

4) S5(x-3)=x+3
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38.

39.

Which of the following statements is
correct regarding children coming 0
school from rural areas in the context
of Mathematics ?

(1) They may have rich oral
mathematical  traditions  and
knowledge.

(2) They do not know any
mathematics.

(3) They have poor communication
skills in mathematics.

(4) They need not learn formal

mathematics as it is of no use to
them.

Read the following statements :

A. Axioms are propositions which
are assumed.

B. Axioms are special theorems.
C. Axioms are definitions.

D. Axioms, when proved becomes
theorems.

Which of the following statement(s) is
correct ?
(1) AandD

(12)
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40.

‘Which of the following statements
does not reflect contemporary view of
students errors in mathematics 7

(1) They are a part of learning,

(2) They are a rich source of
information,

They can guide the teacher in
planning her classes.

They should be overlooked,

©OF
@

Which of the following statement(s)
regarding Mathematics is true ?

A. Mathematics is a tool.

B. Mathematics is a form of art.

C. Mathematics is a language,

(1) B&C

(2) only A

3 AB&C

4 A&B

To prove that +/2 is an irrational
number, a teacher begins by assuming

that it is a rational number and then

proceeds to show how this assumption

is not feasible. This is an example of

(13)
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43. Which of the following statements

reflects a desirable assessment

practice In the context of mathematics

learning ?

(1 Holding conversations and one to
one discussion with children can
also be helpful in assessing them.

(2) Assessment should be product
oriented and focus on the right
answer of the child.

(3) Incorrect answers of children
should largely be ignored because
we need to focus on children’s
strengths.

(4) Only paper-pencil tasks are snited
to assess students because they
require precise answers.

Which of the following statements is

true of learning mathematics ?

(1) Girls need extra attention because
they are weaker in mathematics.

(2) Mathematics is a specialized
subject meant for a select few.
Informal algorithms are inferior to

(14)
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45 mrdeofpwﬂnalrmmgh

understanding the concept related ¢,
mﬂoandmolﬂmwashlghu@udby
(1) Zoltan Dienes

(2) Jean Piaget

(3) Lev Vygotsky

(4) VanHiele

A student is not able to solve those

word problems which involve

transposition in algebra. The best

remedial strategy isto

(1) give lot of practise questions of
word problems in  another
language.

(2) explain him/her word problem in
simple language.

~ (3) explain concept of equality using
alternate method.

(4) give lot of practise questions on
transposition of numbers.

Contemporary understanding of
Mathematics Pedagogy encourages
teachers to do all of the following,
except :

(1) Introduce computation of
~ problems before development of
conceptual understanding.
Create opportunities for students
to guess-and-verify the solutions
'toproblems :

(3) Develop the skill of systematic
- reasonmgmsmdems

. age the ability to
e N s,

@

@

(15)
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48.

50.

The value of

[(4) + 2] x (-3) - (3) [ X N = B
+(4) [(~48) + 6]

is

() -11
2) 13
3) -l6
@ 9

4 3322 24
The fractions 49’ 38’ 25 and 59 are

written in descending order as

G RuBM
25" 29" 38 49
o “n B
49’ 25° 38* 29

, “nUD
3) 79382925
24 33 22 44

4 5540

2938’ 25 49

Which one of the following statements
is not true for integers ?

(1)
2)

Division is commutative.

1 is the multiplicative identity.

(16)

49.

50.

P.
[(= 4) + 2] X (-3) = (-3) [(-3) X (-7) - g]“-

+ (4) [(- 48) + 6]

HUH &

@y =5

@ 13

3) -16

4 9

et 3 39 28 71 29 1 S 0

fr= v & @ s &
22 24 33 44
(1) 352938 49
44 22 33 24
(2) 39'25 38 29
44 33 24 22
() 293829 25
24 33 22 44
@) 29382549
et oAl 3 @ W a1 e Uit % fe
TR ?
) smwaftEg R |
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7) i

5;.! HFx=2x32x5x7 51, AR x=2*x3¥xx7
y=22x3 x5 x 7, and y=22x3P x5 x 7, T
2=2x3¥x52x75, : 2=29x3" x5 x7°

then H.C.F. of x, y and z is %, dtx, y 3 2 1 @ FHIEd €
M (5x7 () (5Px7
@ (B0rx7 | ' @ (B0)Px7
@) 3077 | @) 30x7
@ (G0xT | @ (B0Px7
@ £52272 = p* x ¢* x 14, 52, aRS5272=p*xgPxr,
where p, g and r are prime numbers, gl p,- q ¥R r I F@N €, B
then the value of 2p + q - 1) is (2p+q-r)$I1TH"B
1 22 N ot
D 2 @ 23
3 29 @ 2
Bt o @ 21
w53, If the 7-digit number 134x58y is g% 53. 3§ 7-3iht Aol §@ 134x58y, 72 |
| ~ divisible by 72, then the value of g, @ +y FAR R
(2x +y)is :
W 7 A
g (2)

(3

N NG o e
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55.

56.

57.

Which of the following is not a
Pythagorean triplet ?

() 815,17
(2) 11,60, 63
(3) 13,84,85
@ 7,24,25

The measure of an angle for which the
measure of the supplement is four
times the measure of the complement
is

(1)
)
(3)
)

45°
600
75°
30°

If the angles, in degrees, of a triangle
are x, 3x + 20 and 6x, the triangle
must be

(1) Acute
(2) Right
(3) Isosceles
(4) Obtuse

In triangles ABC and DEF, £C = £F,
AC=DF,and BC=EF.IfAB=2x-1
and DE = 5x - 4, then the value of x is

Sy 2

(18)

54, ey if o g urgamie B TE 4 2
(1) 815,17
(2) 11,60,63
(3) 13,84,85
4) 17,24,25

55. 3@ oy o1 A, FEes G %1 A1
% [ % W9 & =R T % T R, P
¥

(1) 45°

@ 60°

(3) 75°

4) 30°

56.  afe Rt Bige & it o A, fft A, x,
3x + 20 91 6x & @ Pyw Ew @
fauIl

(1) =T By

(2) g S

3) anfgerg s
4) ifrerseor By

57. fq9 ABC 3R DEF #, £C = ZF,
AC=DF3dRBC=EF® |3R
AB=2xr-1TUDE =5x -4 %, MxH
LIC

1 2

@ 3

3 4

@ 1
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59.

One side of a triangle is 5 cm and the

other side is 10 cm and its perimeter s
P cm, where P is an integer. The least
and the greatest possible values of P
are respectively

(1) 20and28
) "21and29
(@) 22and27
4) 19and29

Let x be the median of the data

13, 8, 15, 14, 17, 9, 14, 16, 13, 17, 14,
15,16, 15, 14. ;

If 8 is replaced by 18, then the median
of the data is y. What is the sum of the
values of x and y ?

(1) 28

2) 29

(3 30

@ 2

A bag contains 3 white, 2 blue and 5
red balls. One ball is drawn at
random from the bag. What is the
prohabihty that the ball drawn is not

(19)

BB

8.

60.

mwﬁwaﬂswmwﬂ
w1 10 em &, 3R 351 TRA P om B,

vef P 0 QUi | P & =gem afk
Siftrean €¥a AT hA: &

(1) - 203728
@) 21329
3) 223R27
(4) 19329

a5 afeet 13, 8, 15, 14, 17, 9, 14,
16, 13, 17, 14, 15, 16, 15, 14 %1 AT x
2 | 3Rk 8 F wW T 18 ¢ e WY, @
atfrel I HET® y B | x W4T y % | I
IR ?
(1) 28
2 29
(3) 30
@) 27

et &9t 7 3 whe, 2 Heft 3 5 e e
2 | 3% & @ Jg=ud = g FeEel S
R | Tt ré g v T <) 7 R, v
T MR8 2

T
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Directions : Answer the following questions by

selecting the correct/most appropriate options.

61.

62.

Which of the following nutrients are
present in milk ?

(1) Protein, Vitamin C, Vitamiln A
(2) Carbohydrates, Vitamin C, Iron
(3) Protein, Iron, Vitamin D

(4)

Protein, Calcium, Vitamin D

The non-metal used in the purple
coloured solution applied on wounds

as antiseptic is
(1) Iodine
(2) Bromine
(3) Sulphur
(4) Chlorine

Which of the following statements
regarding ‘Air”’ is incorrect ?

(1) Airis not present in soil.

(2) Air plays important role in water
cycle.

(3) Air occupies space.

(4) Air has weight.

Which of the following represents
correct matching of the organs of
digestive system in Column A with the
function in Column B ?
Column A Column B
- i. where protein
B by N

(20)

EgE

T s

i A

'E.

=11
Bdw . Pofufss e & I & F fn
e/} g f4weT FAG -

61.

62.

63.

64.

o it frforfga i & e B € 7
(1) i, fefe-c, fefE-A

) ey, ReifE-C, I ()
(3) A, s (sien), fetE-D

4) A, %ﬁﬁuw, feeftm-D

JmE) % ®9 A GE W
fﬂmﬁaéaﬁhﬁh%ﬁamiaﬁa
#t 1T gt & 7
(1) 3mEEH
2) we
(3) T
4) FARA
arg % way & A Ry T B 7w
Tt 7
(1)  gerd 9y Iufedd el Bl |
(2) @ sk 8§ a1g h AEw Y

B2 |
(3) I A B R |
(4) TYAIRATR |

@y A ¥ fou U gem 93 & o ol

w B # R T 7% St = A9 R

e @t ?
WY A

a. I%a () i

WY B
&l N 1 =
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65. Which of the following statement
about cells is true 7
(I) Cells of a tissue have similar

structure,

(2) Size of cells is same in a well
organized organism.

(3) All the cells have nucleus,

(4)  All cells are round in shape.

66. Which of the following are correctly

matched with their mode of
reproduction ?

A B
a. Yeast i.  vegetative

propagation

b. Potato ii. spore formation
c. Algae iii. fragmentation
d. Fungi iv. budding

a b ¢ d
(B k. Hi 8 dv
(2 at e Al
@y o gt v i
@) w4 i i

Which of the following pollutants are
responsible for depletion of ozone
layer ?

(1)  Chlorofluoro carbons

(2) Acid rain
§¢ Viethane and-carbon

67.

dioxide
carbon

(21)

65.

67.

X

e cak AcL ek ek Ok B
(1) ﬁ;ﬂmﬁﬁtaﬁﬁmﬁmﬂﬁil
@) et well wifs =efem e 3

FIfEEIA BT ATHR (FEHA) THH
AR |
3) ot g s a2 |

(4) TRl Pl T A 2 |
frefafaa # fFe 39h o= i R &
i e e 2

A B
a. I i FIE yEyq
b, T i, ey T

(dlrsmoy )

¢, Sam iii. GUSH
d. H9% iv. HpeH

a b c d
My, i HL N
@y  d e
@) i i
4 w i - i i
frffen § & 97 @1/3 wgEs S
WA & 19Ed % fore st /% ¢
(1) TARRISR Hra
(2) T 9§t
(3) AT N FHE SEATEES

@
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69. Which one of the following is not true 69. ﬁ‘qﬁ;ﬁmﬂﬁmlﬁﬁi‘ﬁﬁw*

of the nature of science ? e R 2
A. Science is always tentative.

B.  Science promotes scepticism.

of B g wiges Bl wwE o € |

C. Science is a process

constructing knowledge.

D. Science is static in nature.

g
4l
E
4
» 3
2
:

(. B (1) B
IR C ) iC
3 A (3) A
@ D @4 D
70. Which of the following is/are 70. Frefefea § & fraw fem fam %
developed by Science ? TR ?
A.  Equity ' A. Trsaega
B. Scientific attitude i B. g
~C.  Scientific temper ! C. mﬂ
D. Static mind set % D. T AEE wgi
(1) - B,CandD e () B,C3RD
| (2) A,BandC (2) A,B3RC
(3) CandD (3) C3IRD
(4) AandD @ A3SRD
71. T T Rrws By 6 TR

The role of a science teacher should be

e

(1) BE B IO emuE -
O TR e o |



72.

73-

As per NCF-2005, good
education shoul;l be

science

A. True to the learner

B. True to the environment of the
learner

C. True to the teacher
D. True to science

(1) B andConly

(2) A,BandC
(3) Donly
(4) A,BandD

“Conducting a the
awareness of people about sources of
air pollution in learners localities.”

Which of the following cognitive
process will be most associated with
the above learning objective having
action verb conducting ?

survey on

(1) Understanding
(2) Creating
(3) Applying
(4) Remembering

(23)

72.

73.

X
¥t Il 2005 % IR, T e
fargme e
A, drEd A % i w=h et =i |
B. HEq T % YA % Wi w=
Bt =TT |
c. o % v a=ht ot =rfee |
p. fam vy a=h d =i |
(1) BaMCHFIA
@ AB3RC
(3) D%ad
(4) A,BS3WRD

gy % HATY & & @l A 9Tg Y F
Ht & TEEHT F FE W HIEH
wEr
frafafes & & S @ AT SR
Il diea % 329 A Ywifea Rt
‘FETeH wE ¥ gad fue wefe
Bft ?

(1) S HET |

(2) ESHHET |

(3) TN AT |

(4) 3G HET |
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75.

76.

71.

D. Jo

By which of the following strategy

meaningful clarification on the

concept of reflection of light can be

given ?

(1) Chart showing the reflection of
light,

(2) Observing reflection of light on
white paper screen by the learners
and drawing conclusions.

(3) Asking closed ended questions
related to the concept.
(4) Animated video on the concept.

Why are field visits important in

science ?

(1) Itis easy to conduct.

(2) It collects the information of
science.

(3) It develops habit of hardwork
among learners.

(4) It provides hands on experiences
to the learners.

Which of the following tool is for
learner centered assessment ?

A. Portfolio
B. Concept mapping

C. Paper-pencil test

(24)

75.

76.

19

- e

P & & P affs 3 @00 PR &
T B gl 1 YA S
femrsnawar® 7

(1) m%mﬁﬂﬁﬁ@ﬂ’@“q‘é

) rﬂ@ﬁmﬁﬁ%aﬂraﬂﬁw%
g

(3)  depea SnuTiE W I A S

) e s YfReE ifed

forgrr & & sy el T & 2

(1) 5 S=TeH T ¢ |

(2) % R o T 3 HI R |

3) ¥ dr@d STt H HE i 31ET H
Pemwm e |

(4) € 379 T | F B B AP

e AT 2 |
Fr= @ = w1 wree e ST e
i
A, e
B.  SAEUROT AR
C. Jm-tfyer ol
D. A« faEAr
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79.

81.

Amrita is trying to set-up an electric
circuit. She runs short of connecting
wires. Which of the following

materials can she use to complete the
circuit ?

(1) steel wire
(2) glassrod
(3) rubber pipe
(4) thick thread

Identify the correct statement.
(1)

A concave mirror forms an erect
as well as inverted image.

(2) A convex mirror always forms an
inverted image.

(3) A convex mirror forms erect as
well as inverted image.

(4) A concave mirror always forms an

erect image.

Which of the following acids is found
in ant’s sting 7

(25)

79.

80.

81.

)

X
e g ferge aftoy safer w6
e T R | 36 TE i we §
dare R T8 & | Theg W wE &
for =g 12 fog e were! A & fore o
T o aHd & 7

(1) HEAHN
2) HAFHTE
(3) TESH
(4) WY

TE FYA I TEITHT :
379 edu FHyy gfafaw i &=
2 3 3oy faters ot & 2 |

I9e g9 wed & Ierel Fffe
g2 |

(3) I g gien gefera s &=
3R 3 wfafera off AT R |

(4) FrEae oo ged & il e
AT 8 |

(2)

<t & <u (&%) & P 3§ @ B
HAAECR ?

FITHE A5
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83I

85.

Myra cycles to a friend’s house 5 km
away to deliver a packet. She goes at a
speed of 12 km/hour and returns at a
speed of 8 km/h. Her average speed

during the whole trip is ~
(1) 9.6 km/h

(2) 10km/h

(3) Sm/s

(4) 20km/h

Which of the following sets contains

only the units of measuring distance ?
(1)  cubit, year, light year

(2) cubit, metre, light year

(3) metre, hertz, cubit

(4) metre, light year, hertz

Sameer rolls his marble on three
different surfaces spread out on floor —
taut cellophane sheet, carpet and

newspaper. The force of friction

acting on the marble in the increasing

order is

(1) Newspaper,
sheet

(2) Cellophane
Carpet

(3) Cellophane
Newspaper

(4) Newspaper,
Carpet

Carpet, Cellophane
sheet, Newspaper,
sheet, Carpet,

Cellophane sheet,

iﬁ ving linearly with a
el time s

(26)
83.

|
|
|
|
|
I 85.

86.

P-II
T fopelt e 1 g % OIS km
Th T St wdel % o HIERCT ST
SR R | 78 ST w12 kb, ST R
Y & 3ik ed T 8 k/h. I T §
Rt 2 | e e q K A
e R

(1) 9.6kmh

(2) 10km/h

3) Smis

(4) 20 km/h

frfifiss & few ag=a § a9 gft
A FAER S 7

(1) e, €, TeREEy

2) wferya, Hiew, TREEY
(3) e, &, Fiea
4) T, THEEY, T

TR o F2 (et B v S f
fafter gat (aael) - ot g8 S i,
He( 3N FIER-94 T gesal & | 59
W T ST 960§ 9gd 9 B R
SR BRI 7

(1) TAER-9H, HTeH, e 3
@) e 3, TIER-TE, el

RO et 3fte, Hﬂ?ﬁﬁ, GHTER-93

(4) EETER-9H, VETh e, e

w1 fvs Wawa: fedht wramm 37 @
ﬂﬁmﬂlﬂﬁmaﬂ X-a1% R frefa
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89,

Whlch of the following organisms can

Which of the following is not a
byproduct of petroleum ?

(1) Coke

(2) Bitumen

(3) Lubricating oil
(4) Paraffin wax

Aman keeps a plastic bottle, a wooden

spoon and a metallic spoon in a closed

room overnight. The room
temperature is 30 °C, In the morning
he records the temperatures of the
three objects as T,, T, and T,. Which

of the following most likely represents
the relation between them ?

(I} LeT.>T,
@) T =Ty=T;
@) T,>T,>T,
@i Ty=T,=T,

own food by

their

(27)

87.

88.

X
Prfofaa § @ B9 Yo %1 I9wR
TR ?

(1)

2) Fogea

@) TEH

4) SufeT wm

a Fret @2 R 7§ T whies A

e, T TRE! 1 T IR T g
T T R TG 8 | FH AT 30°CR |

guE BN W 98 W dHl Tega %
fmﬁmiahi‘l,'r T, €
ﬁﬂ%ﬁaﬁﬁ%ﬁammﬁmﬁt
Prequr & FER st uEAT B "l
®?
(1) T,>T,>T,
@ - T’=T2<T3
@) BST
4 T,=T,=T,

FraferRes et & ¥ 19 THw-g5s

(1)
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IMPORTANT : Candidates have to do
Question Nos. 31 to 90 EITHER from Part -
Il (Mathematics and Science) OR from
Part - II (Social Studies / Social Science).

gVl ; whenterat # v G631 @90
at w11 o @ fr) @ T
(T srezrar,/ areTtore [Ear) david |

PART - TN / §T°7 - T01
SOCIAL STUDIES / SOCIAL SCIENCE (RMIfWe: rea / gt faae)

Directions : Answer the following questions by
selecting the correct/most appropriate options.

31. Assertion (A) : It will be 7:30 p.m. in
India, when it is 2:00 p.m. in London.
Reason (R) : India is located east of
Greenwich at 82°30'E,

Select the correct option from the

given alternatives.

(1) (A) is false, but (R) is true.

(2) Both (A) and (R) are true and (R)
is the correct explanation of (A).

(3) Both (A) and (R) are true, but (R)
is not a correct explanation of (A).

(4) (A) is true, but (R) is false.

32. Consider the statements A, B, C on time
zone and choose the correct answer :

A. Some countries have a great
longitudinal extent and so they
adopted more than one
standard time.

‘B. The earth has been divided into

~ twenty-four time zones of one

% )

Py : Prefufes i 3 S & % U
/e g e I |

31, A (A) : o T 3 ARG P 2:00
&, e 3 7:30 ST o e |
HRU (R) : W Mt & A 82° 30" 4,
feag |
fiu Ty frmedt # ¥ wdt e w1 w9

#Hif |

() (A)TeTd 2, T (R) & & |

@)  (A) 3 (R) ST wE B 3 (R) T
T8 (A) 1 |

(3) (A) 3R (R) TF & &, TG (R)

TE ST A8 & (A) |

(A) TE 8, T (R) Tea 2 |

32. @99 §7 WRU M A, B 3R C +eHi W

forem Pt it ot SwR o =aw AR

A, TB o w1 qmw fwR siftes
B & Rras s agf v & st
HTTeh §HT AT T |

T F Th-TH 92 AW 24 T
gt o wfer may |
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33.

34,

Choose the correct arrangem,

ent
atmosphere’s layers beginning f“}::
earth’s surface :

(1)

(2)

3

4

Troposphere, Stratosphere,
Mesosphere, Thermosphere
Exosphere

Exosphere, Stratosphere,
Mesosphere, Troposphére,
Thermosphere,
Mesosphere, Troposphere,
Exosphere, Stratosphere,
Thermosphere
Stratosphere, Mesosphere,
Thermosphere, Ex05phere
Troposphere.

Seasons occur due to which of the
following reasons ?

(1)

@

(3)
(4)

Tropic of Capricorn receives
direct rays of the sun, falling
vertically at 23'%° S.

Revolution of the Earth and
inclination of its axis in the same
direction,

Circle of illumination caused due to
rotation of the earth around its axis.
Axis of the Earth makes an angle
of 66Y%2° with its orbital plane.

e mgjor constituents of earth’s

- by -percentage is

(29)

33,

34.

e L

X

et 1 HOE W L& W AgHeT HI Tl

¥ a9 %1 9 Hifg ;

(1) ®vEed, GHAMESH, HeEHsd,
Tl TGS, SieHee |

() wfedew, wHAOHSE, WeIHSH,
gvrsH, ST 9TgHSd |

(3) memEd, &hws, S,

e
4) TOAEvSd, HeANSW, W
e, e, s |

ﬂiﬁﬁﬁﬁiﬁ*@ﬁﬁﬂﬁmwﬁ

BN E ?

(1) m%@mqﬁﬁvﬁﬁﬁﬂﬁ
232 7. WU 8 | :

) wwmaﬂ?@ﬁﬁmﬂ
6 3181 T ZehT BT |

(3) e o a7 I W - guie <
HRT S T 2 |

4) g 1 FH Ut FEE GaE d
664° 3T IO TTAT & |

s 3 ST gt & g

|1 WG HITH & 7

(1) hTeA SEHTFES

(2) TGS

(3)

@

E’Iﬁ-ﬂ'ﬂ
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37. The depositional feature of a glacier is 37.  fime % fagoor @l e T 8 ¢
called : (1) fidre
(1) Moraine @) iy
(2) Loess 3) T
(3) Levees @ 'H'g?ﬁ g

(4) Seacave

' i
38. Statements A and B describe the 38, YT A AN B frefefad FAEfed

features of which of the following | forer) fardreraail w01 A € 7
vegetations ? A, TE Sty Sad el % =
A. This vegetation is found in the . el (soo_mo)ﬁmﬁsn?ht |
higher latitudes (50° - 70°) of
ST e ¢ |
Northern Hemisphere. B. ¥eMEHAH asf
B. Itis also called as Taiga. (1)  sfirsor quidTe =
(1) Temperate Deciduous Forests. @) w T
(2) Coniferous Forests. &
(3) Mediterranean Vegetation. (3) e it
(4) Temperate Grasslands. 4) s arERe
39. Which of the following is not a feature 39. Prafefea & & =7 o T-swga afRw
of the Ganga-Brahmaputra Basin ? i fdwar T & 7
(1) The density of population of plain (1) A 83 # SEEm ue o
| area is very high. e R |
| (¢3) :'&he ;d:: fzrr::tsls covered with @ e dmimaa Rt |
angro ; _
(3) Slash and Burn agriculture is @) ‘Iﬁl ﬁ;m T 801 1 el i
. practiced in this area for land Wﬁ ST R |
cultivation. @ AeF & F ol @ S (I
() ‘Ox-Bow lakes dot the plain area. her) fafea & |

W‘Iﬂmﬁ&tm! wiifs






